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(& 1] (15 %)

2sin(y*) dx+xycos(y*) dy =0, y(2)=~/z/2

(3222 2] 20 %)
(a) Please prove the initial value theorem: if £ lf(Y)]|=F () , then

lim £(#) = lim sF (s)

(b) Use the Laplace transform to solve

"+ (4t+2)y' -4y =0, p(0)=2

(A 3] 15 %)

Solve the systems

v, -

X, +8x;=9

(a) via the Gauss-Jordan elimination method.
(b) via the elementary matrix method by using inversed matrix.

(c) via the Cramer’s rule.
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Please prove the Stokes’s theorem for F = y [ +2 JtXx k and S the

9 2
paraboloid ¢ = f(x,y)=1-(x"+y"), z20 (as shown in the following
figure).

[ZA 5] 15 %)

(a) Find the Fourier series of the following periodic function

1 if -r< x<0

f(x>={_1 it 0<xeq @i SOxH2D)= f(x)

(& 6] (15 %)
(a) Solve 7 —(85+1)z+(@8+i)=0

(b) Find all z, such that sinz = \/E



